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a)


Which two members of this food chain are not eaten by other animals?


(A)
Trees and grasses


(B)
Grasses and hawks


(C)
Insects and mice


(D)
Goats and hawks
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b)


Which animal would most likely be the missing link in this food chain?


(A)
Frog


(B)
Trout


(C)
Koura (freshwater crayfish)


(D)
Whitebait


(E)
Watercress
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c)


Which animal will probably disappear when all the bean plants are pulled out and burnt? 


(A)
Aphids


(B)
Caterpillars


(C)
Whitefly


(D)
Snails


(E)
Beetles
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This diagram shows a rock pool food web.  Use it to answer the following questions.

a)
What does a crab eat? ____________________

b)
What eats rock cod? ______________________________________________________

c)
Name two producers. ____________________  and  ____________________

d)
Put in the arrows to complete this food chain.

	Plankton          Mussel          Seagull


e)
Shrimp are in three different food chains in the food web above.  Draw one of these 

food chains in the box below.

	


f)
Here is another food chain.


Seaweed  (  Catseye  (  Whelk  (  Seagull


Add this food chain into the food web at the top of the page.
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Here is a food web from the sea.
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Use the food web above to answer the following questions.

a)
Complete this food chain by filling in the missing link.


seaweed

____________________

starfish

b)
What eats periwinkle?   ____________________

c)
What does a crab eat?    ____________________

d)
How many different foods does the fish eat?    __________

e) Food chains start with a producer.  Draw a two-link food chain from the food web


above, which starts with a producer and does not include starfish.


____________________

____________________

___________________

f)
Draw the longest food chain possible from the food web above.


______________________________________________________________________
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	a)
	Option A chosen by 21% of the students.

	b)
	Option C chosen by 23% of the students.


� EMBED WPDraw30.Drawing  ���





� EMBED WPDraw30.Drawing  ���





� EMBED WPDraw30.Drawing  ���





tiny animals





tiny plants





mussel





fish





seal





periwinkle





seaweed





starfish





seagull





limpet





crab








_1081078629.unknown

_1081078658.unknown

_1081078593.unknown

